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Question Number : 51 Question Id : 48558435716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Managers of this level of management interact with the actual workforce and pass on instructions of the middle level management to the
workers. Identify the level of management.

1. Operatives

2. Supervising level management
3. Middle level management

4. Top level management

Options :

485584142861. 1
485584142862. 2
485584142863. 3
485584142864. 4

Question Number : 51 Question Id : 48558435716 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142861. 1
485584142862. 2
485584142863. 3
485584142864. 4

Question Number : 52 Question Id : 48558435717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Japanese word 'Kaizen' refers to:
1. Change for better or improvement.
2. Achieving target at minimum cost.
3. Focus on increasing productivtiy.
4. Continue using scientific techniques of management
Options :
485584142865. 1
485584142866. 2

485584142867. 3
485584142868. 4



Question Number : 52 Question Id : 48558435717 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

485584142865. 1
485584142866. 2
485584142867. 3
485584142868. 4

Question Number : 53 Question Id : 48558435718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Name the personnel who does not work under planning incharge in Functional Foremanship:
1. Time and cost clerk
2. Inspector
3. Route clerk
4. Disciplinarian
Options :
485584142869. 1
485584142870. 2

485584142871. 3
485584142872. 4

Question Number : 53 Question Id : 48558435718 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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485584142869. 1
485584142870. 2
485584142871. 3
485584142872. 4

Question Number : 54 Question Id : 48558435719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Three dimensions of management are:

1. People, Operations and Environment

[

. Work, People and Operations
3. Environment, Work and People
4. Operations, Environment and Work

Options :

485584142873. 1
485584142874.2
485584142875. 3
485584142876. 4

Question Number : 54 Question Id : 48558435719 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142873. 1
485584142874. 2
485584142875. 3
485584142876. 4

Question Number : 55 Question Id : 48558435720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the general plan prepared by top Management outlining resource allocation, priorities and takes into consideration the business
environment and competition.

1. Objectives
2. Strategy

3. Budget

4. Programmme

Options :

485584142877. 1
485584142878. 2
485584142879. 3
485584142880. 4

Question Number : 55 Question Id : 48558435720 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142877. 1
485584142878.2
485584142879. 3
485584142880. 4

Question Number : 56 Question Id : 48558435721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

'Sales forecasting is the basis on which a business firm prepares it's annual plan for production and sales'. Identify the feature of planning
highlighted in the above sentence.

1. Planning is dynamic
2. Planning is a primary function of management
3. Planning is a mental exercise
4. Planning is futuristic
Options :
485584142881. 1
485584142882. 2

485584142883. 3
485584142884. 4



Question Number : 56 Question Id : 48558435721 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142881. 1
485584142882. 2
485584142883. 3
485584142884. 4

Question Number : 57 Question Id : 48558435722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Name the function of management that removes ambiguity and ensure clarity in working relationships.
1. Planning

2. Organising

L5 )

. Staffing
4, Directing

Options :

485584142885. 1
485584142886. 2
485584142887. 3
485584142888. 4

Question Number : 57 Question Id : 48558435722 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142885. 1
485584142886. 2
485584142887. 3
485584142888. 4

Question Number : 58 Question Id : 48558435723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Select the organisation that gives rise to a network of social relationships among emloyees.

1. Formal

[

. Informal
3. Functional
4. Divisional

Options :

485584142889. 1
485584142890. 2
485584142891. 3
485584142892. 4

Question Number : 58 Question Id : 48558435723 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142889, 1

485584142890, 2

485584142891. 3
485584142892. 4



Question Number : 59 Question Id : 48558435724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the workers who are recruited by means of direct recruitment under which a notice is placed on the notice board of the enterprise
specifying the details of the jobs available.

1. Casual callers

2

. Casual or Badli workers
3. Contractors labour
4. Managers

Options :

485584142893. 1
485584142894. 2
485584142895. 3
485584142896. 4

Question Number : 59 Question Id : 48558435724 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142893. 1
485584142894. 2
485584142895. 3
485584142896. 4

Question Number : 60 Question Id : 48558435725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

It reveals the number and type of employees available in the organisation.
1. Selection Test
2. Mental Revolution
3. Workload Analysis

4. Workforce Analysis



Options :

485584142897. 1
485584142898. 2
485584142899. 3
485584142900. 4

Question Number : 60 Question Id : 48558435725 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :
485584142897. 1
485584142898. 2

485584142899. 3
485584142900. 4
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Question Number : 61 Question Id : 48558435726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Name the process by which the aptitudes and skills of employees to perform specific jobs are increased:
1. Development

2. Education

[F¥)

. Coaching
4. Training

Options :

485584142901. 1
485584142902. 2
485584142903. 3
485584142904. 4

Question Number : 61 Question Id : 48558435726 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142901. 1
485584142902. 2
485584142903. 3
485584142904. 4

Question Number : 62 Question Id : 48558435727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which element in the communication process involves converting the message into words and symbols?

1. Feedback
2. Message
3. Decoding
4. Encoding

Options :

485584142905. 1

485584142906. 2

485584142907. 3
485584142908. 4

Question Number : 62 Question Id : 48558435727 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

485584142905. 1

485584142906. 2

485584142907. 3
485584142908. 4



Question Number : 63 Question Id : 48558435728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The process of controlling includes except:

1. Setting performance standards

[

. Defining levels of management
3. Measurement of Actual performance
4. Comparison of Actual performance with standards

Options :

485584142909. 1
485584142910. 2
485584142911. 3
485584142912. 4

Question Number : 63 Question Id : 48558435728 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142909. 1
485584142910. 2
485584142911. 3
485584142912. 4

Question Number : 64 Question Id : 48558435729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is not a modern technique of managerial control ?
1. PERT & CPM
2. Ratio Analysis
3. Personal Observation
4. Return on Investment

Options :
485584142913. 1



485584142914. 2
485584142915. 3
485584142916. 4

Question Number : 64 Question Id : 48558435729 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142913. 1
485584142914.2
485584142915. 3
485584142916. 4

Question Number : 65 Question Id : 48558435730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Planning prescribes an appropriate course of action for achieving objectives, while controlling checks whether decisions have been
translated into desired action.

Which relationship between Planning & Controlling is being explained here:
1. Planning without controlling is meaningless
2. Planning is a prerequisite for controlling
3. Controlling iz blind without planning
4, Planning is prescriptive, controlling is evaluative
Options :
485584142917. 1
485584142918. 2

485584142919. 3
485584142920. 4

Question Number : 65 Question Id : 48558435730 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A o3l 1 U & o U Iugad o1 &1 uraarht MidRa et 8. Safes Faau gg Siia v § & @1 Fofal &1 erarg
qifesd o B fapar T § 1 Ao SR oA & d SH-91 96y 781 IR SHe T 82

1. fe1 =0 61 AT srigi- giel 6 |

2. e e @1 gatifér o B

3. f& 11 dioiT & (g A sien giar gl

4. TioT1 &R Bid! § quT FEE0 gedied W el 5l

Options :

485584142917. 1
485584142918.2
485584142919. 3
485584142920. 4

Question Number : 66 Question Id : 48558435731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following factors does NOT affect choice of capital structure;

1. Interest Coverage Ratio
2. Debt Service Coverage Ratio
3. Return on Investment
4. Current ratio

Options :

485584142921. 1

485584142922. 2

485584142923. 3
485584142924. 4

Question Number : 66 Question Id : 48558435731 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
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Options :

485584142921. 1
485584142922.2
485584142923. 3
485584142924. 4



Question Number : 67 Question Id : 48558435732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

During a bearish phase of stock market, a company may find raizsing of equity capital more

1. Easy

| ]

. Difficult

. Moderate

[¥5)

4, Impossible

Options :

485584142925 1
485584142926. 2
485584142927. 3
485584142928. 4

Question Number : 67 Question Id : 48558435732 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142925. 1
485584142926. 2
485584142927. 3
485584142928. 4

Question Number : 68 Question Id : 48558435733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Companies with a higher growth pattern are likely to
1. Pay higher dividends
2. Pay lower dividends
3. Dividends are not affected by growth considerations
4. Increase employees lay off

Options :
485584142929. 1



485584142930. 2
485584142931. 3
485584142932. 4

Question Number : 68 Question Id : 48558435733 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584142929. 1
485584142930. 2
485584142931. 3
485584142932. 4

Question Number : 69 Question Id : 48558435734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Identify the factor which affects Capital structure of a company.
1. Current Ratio
2. Quick Ratio
3. Inflation
4. Interest Coverage Ratio

Options :

485584142933. 1
485584142934. 2
485584142935.3
485584142936. 4

Question Number : 69 Question Id : 48558435734 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142933. 1
485584142934.2
485584142935. 3
485584142936. 4

Question Number : 70 Question Id : 48558435735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Select that is not an instrument of Money Market.
1. Commercial Bill
2. Zero Coupon Bonds issued by RBI
3. Debentures
4. Certificate of Deposit

Options :

485584142937. 1
485584142938.2
485584142939. 3
485584142940. 4

Question Number : 70 Question Id : 48558435735 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142937. 1

485584142938, 2

485584142939. 3
485584142940. 4



Question Number : 71 Question Id : 48558435736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which Money Market instrument is issued in bearer form?
1. Commercial Paper
2. Certificate of Deposit
3. Call Money
4. Treasury Bill

Options :

485584142941. 1
485584142942.2
485584142943. 3
485584142944. 4

Question Number : 71 Question Id : 48558435736 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584142941. 1
485584142942.2
4855841429433
485584142944. 4

Question Number : 72 Question Id : 48558435737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Identify which of the following is not a responsibility of a consumer?

1. Be aware of various goods and services available in the market

[

. Buy only standardized goods
3. To seek redressal

4. Read labels carefully

Options :
485584142945. 1



485584142946. 2
485584142947. 3
485584142948. 4

Question Number : 72 Question Id : 48558435737 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

frofalaa & 93Ut ueaH S o te Iuviad &t foraRt T8 g
1. TSR ¥ I9Rq faftrs aegsi qen darsi & uid 3o 61

2. Had B Ihd a3 BT o BT
3. MR @i

4. AGTl P HFYAD U]

Options :

485584142945. 1
485584142946. 2
485584142947. 3
485584142948. 4

Question Number : 73 Question Id : 48558435738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

'X' purchased a car from company "Y'. When X' was taking his new car to home it caught fire. Which of the rights of the consumer was
violated in this case ?

1. Right to Safety

(]

. Right to be Assured
3. Right to be Heard
4. Right to Seck Redressal

Options :

485584142949. 1
485584142950. 2
485584142951. 3
485584142952. 4

Question Number : 73 Question Id : 48558435738 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




X' 'y SO Y UH PR @IIeH §F X AT T8 HR B ET A O 8T 47T 96 598 3N A TS | 59 71Hd § SuHie & fhg Afier
P Iy G2

1. GR&T BT HUDR

2. fayg-iigd @1 sifteR
3. 1 I 1 SRR

4. FHaR0 GieH &1 PR

Options :

485584142949. 1
485584142950. 2
485584142951. 3
485584142952. 4

Question Number : 74 Question Id : 48558435739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Tdentify Market Segments of National Stock Exchange:

L. Primary Market and Secondary Market

[

. Money Market and Capital Market
3. Whole Sale Debt Market and Capital Market
4. Short Term Debt Market and Long Term Debt Market

Options :

485584142953 1
485584142954.2
485584142955. 3
485584142956. 4

Question Number : 74 Question Id : 48558435739 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

T wie (G & IR s @1 ggaH Sifeu|
1. WU FeiR ayT fgdias aeiR
HET SR U1 4ol &6k
3. Y fashy BUI STeR TUT Uil SR
4. 3feTafe HUT SR a1 raiafe B g
Options :
485584142953. 1
485584142954. 2

485584142955. 3
485584142956. 4

(o]



Question Number : 75 Question Id : 48558435740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify from the following which does not form a part of needs for entrepreneurial motivation.

1. Need for power

[

. Need for achievement

5]

. Need for affiliation
4. Need for security

Options :

485584142957 1
485584142958. 2
485584142959. 3
485584142960. 4

Question Number : 75 Question Id : 48558435740 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

FaAfaRad ¥ 4 3He! ugd Iy Sl Sl SR & (AU STaaddisi & =1 Pl 4o 76l Hdl 62

1. T1fda @1 aRgdl

2. SUAfe] i Al
3. Y DI HTGRTHAT
4. GRET D] ATl

Options :

485584142957. 1
485584142958. 2
485584142959. 3
485584142960. 4

Question Number : 76 Question Id : 48558435741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Identify the correct sequence of activities undertaken by a manager when he/she is involved in the process of defining and grouping
activities to create a framework of tasks to be performed.

A. Identification of work
B. Establishing reporting relationships
C. Departmentalisation
D. Division of work
E. Assignment of duties
Choose the correct answer from the options given below:
1.A,D.C,E,B
2.D,A,E.C.B
3.B,A,D,C,E
4.B,A,C,D,E
Options :
485584142961. 1
485584142962. 2

485584142963. 3
485584142964. 4

Question Number : 76 Question Id : 48558435741 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TS YeUS gR1 91 T8 Nfafafigt & 9t »r &) uge= S, sae! a8 [0 o 91d @i & afe & a1 & forg afvvmiiewor qur
Tofeee ot fafaf i # ia g s

A. BT B UG HAT
B. UfddaMI&T® Hael &l RITU=] ST
c. fayniigeszu
D. BT &1 fauTeH ST
E. @dod] Bl R0 &A1
19 fau T fasedi # 9 Fel 3R &1 99 DIfIU:
1.A,D.C.E.B
2.D,A.E.C.B
3.B,A,D,C,E
4.B,A,C.D,E
Options :
485584142961. 1
485584142962. 2

485584142963. 3
485584142964. 4



Question Number : 77 Question Id : 48558435742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Rearrange the following steps of planning process to be followed after developing premises:
A. Selecting an alternative

B. Identifying alternative courses of action

C. Follow-up action

D. Implementing the plan

E. Evaluating alternative courses of action

Choose the correct answer from the options given below:

1. AB, C.EDE

[ ]

.C,D.E.A,B
3.B.E.AD.C
4. D.C,E A B

Options :

485584142965. 1
485584142966. 2
485584142967. 3
485584142968. 4

Question Number : 77 Question Id : 48558435742 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

URER P! faeRid &3 & €1a 38R0 &1 W il aiei1 Hishar -4 =Rull @1 g ouaf@yd Sifog|

A. TS fqed &1 989 S
B. B & ol [qud] P1 qgar Bl

C. 3fadl B

D. GISH] BT fbar-ag= ]

E. B & doicdd (a9l 1 Gedid Bl

19 fau e fasedi # 9 Hgl TR &1 99 HIfoIu:

1.A,B,C.D,E

a2

CB BiA B
5.B.EAD.C
4.D,.C,E.A.B

Options :

485584142965. 1
485584142966. 2



485584142967. 3
485584142968. 4

Question Number : 78 Question Id : 48558435743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

"Communication iz a process of exchange of ideas. views, facts, feelings ete". Arrange the steps of this process in right order.
A. Encoding

B. Decoding

C. Sender

D. Message

E. Media

Choose the correct answer from the options given below:

1. AB, D E/B

[ 2]

C,DAB.B
3.JEEC.B.AD
4.D.B.A.C,.E

Options :

485584142969. 1
485584142970. 2
485584142971. 3
485584142972. 4

Question Number : 78 Question Id : 48558435743 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




HER a9, SPeIn, 72 sanfe & e Ve 31 uhar g1
SH WithdT & =RUN &1 el PH H ofafyd $ifog|

A. P

B. fage

C. US&

D. &

E. Hitsar

A= feu e fam e § 9 96l 3R @1 994 B

1.A,B,D,C,E

[ 3]

.C,D,A.E,B
3.E.C,B,A,D
4.D,B,A,C,E

Options :

485584142969. 1
485584142970. 2
485584142971. 3
485584142972. 4

Question Number : 79 Question Id : 48558435744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Arrange the functions of management in the correct sequence.
A. Planning
B. Staffing
C. Directing
D. Organising
E. Controlling
Choose the correct answer from the options given below:
1.B,.AD.C.E
2ADBCE
JACBED
4. C.A.B.D.E
Options :
485584142973. 1
485584142974. 2

485584142975. 3
485584142976. 4



Question Number : 79 Question Id : 48558435744 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TS & a1 B el SFPH & ogafedd Hiford|
A. TS
B. PHAR! Fgad &=
c. MR &
D. IS BT
E. o &
i fau U fas el & O el 3R & 999 Bifo:
1.B,A,D,C.E
2.A,D,B,C.E
3.A,C,B.E.D
4.C,A,B,D,E
Options :
485584142973. 1
485584142974. 2

485584142975. 3
485584142976. 4

Question Number : 80 Question Id : 48558435745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Select the correct sequence of steps of controlling process which are given below.
A. Analysing deviations

B. Measurement of actual performance

C. Setting performance standards

D. Comparison of actual performance with standards

E. Taking corrective action

Choose the correct answer from the options given below:

1.B.C,D,A,E

o]

SECBDIAE
3.C, B DE. A
4.C.B.E.A.D

Options :

485584142977. 1
485584142978. 2



485584142979. 3
485584142980. 4

Question Number : 80 Question Id : 48558435745 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

=0T ufshan & <RUT & Ag! 3hH B 909 DI o A1d 4T T g
A, fo=rer o1 fazamor T

B. GRKId® Y& PT A Bl

C. USRI & {1 RIUd S

D. IIae Y= B O ! 9 o1 Al

E.ﬁ‘ﬂ[(ld—@ gl JolHl
1 fau U fas el & § el 3R &1 99 BIfot:

1.B. B A E

[ ]

.C,B,D,AE
3.C.B.D.E. A
4.C,B.E.A,D

Options :

485584142977. 1
485584142978.2
485584142979. 3
485584142980. 4

Question Number : 81 Question Id : 48558435746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which of the following are factors affecting choice of capital structure:
AL Availability of Raw Material
B. Technology upgradation
C. Cost of Equity
D. Level of Collaboration
E. Return on Investment
Choose the correct answer from the options given below:
1. Aand E only
2.A,Band D only
3.Cand E only
4.B.Dand E only
Options :
485584142981. 1
485584142982. 2

485584142983. 3
485584142984. 4

Question Number : 81 Question Id : 48558435746 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Uit TREH1 & fdded &1 JuIfdd 33 RS Fafafad 8 3 oH &2

A. T UaT BT JuaS

B. W] 3o

C. sidhel &I arTa

D. HgUI &1 &

E. FowrmR ufd wat

1 fau U fas el & § el 3R &1 99 BIfo:
1. %ad A HRE

.Had A, B IR D

3.%ad C ARE

4,999 B, D 3RE

| ]

Options :

485584142981. 1
485584142982. 2
485584142983. 3
485584142984. 4

Question Number : 82 Question Id : 48558435747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Social objectives of management includes:

A. Environmental friendly methods of production

B. Giving employment opportunities to underprivileged sections
C. Providing basic amenities

D. Competitive salaries and perks

E. Survival

Choose the correct answer from the options given below:

1.A. B, Cand D only

(o]

.B, C.D and E only
3.A,B,Cand E only
4. A, B and C only

Options :

485584142985. 1
485584142986. 2
485584142987. 3
485584142988. 4

Question Number : 82 Question Id : 48558435747 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Ve 3 WS SeRdl § e 8
A. 3G BT UaTaRu- gl aiaT

B. 3 fauierd avif 1 ASHIR & SaTR USH B

C. gfvarel gfaume weH S

D. wfaeayf a7 3R g

E. 3TSlifdpl

A9 fau e fas el # ¥ Hel SR &1 99 BIfoIU:
1.$dd A, B, C 3R D

. $ad B, C,D ARE

3. a0 A, B, C 3R E

4. FAAA, B IR C

[ ]

Options :

485584142985. 1
485584142986. 2
485584142987. 3



485584142988. 4

Question Number : 83 Question Id : 48558435748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following statements pertaining to co-ordination are correct 7
A. Co-ordination is the responsibility of only top level managers

B. Co-ordination is not a function of management

C. Co-ordination is a deliberate function

D. Co-ordination is not 4 continuous process

E. Co-ordination is the essence of management

Choose the correct answer from the options given below:

1.B, C and E only

[ 2]

.B.Dand E only
3.B. Cand D only
4.C.Dand E only

Options :

485584142989. 1
485584142990. 2
485584142991. 3
485584142992. 4

Question Number : 83 Question Id : 48558435748 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

a9 & gay ¥ Ffafaa § @ oH-3 sy 98 82
A. IU-90 Had Y TR S TEUH] BT Jaedd 8

B. 999 UaY BT $1d 78 &

C. U0 U6 e vd B &

D. -G U Tad Wishar e

E. 9900 Ye§¢- &1 9 dd &

1 fau U fas el & § el TR &1 99 Bifot:
1. HadAB, C ARE

.$IA B, D IR E

3. %dd B, C 3R D

4,999 C, D 3R E

| ]



Options :

485584142989. 1
485584142990. 2
485584142991. 3
485584142992. 4

Question Number : 84 Question Id : 48558435749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

State, which of the following combination are correct for ' on the job methods' of training.
A. Conferences. Internship

B. Job Rotation, Coaching

C. Apprenticeship, Internship

D. Case Study, Computer Modelling

E. Vestibule Training, Job Rotation

Choose the correct answer from the options given below:

1. A and B only

[ 3]

. Cand D only
3.B and C only
4.A.Dand E only

Options :

485584142993. 1
485584142994. 2
485584142995. 3
485584142996. 4

Question Number : 84 Question Id : 48558435749 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




fFafafad § 9 o 9 e & o & R fafir
A. T, URregar
B. A1 uf¥ad=, Hifem
c. Tef, ufregan
D. [awg 31eg=, Hgex Arsfen
= feu ¢ faeed § 9 6t 3R @1 95 Pl
1.5ad A R B
2.0 C IR D
3. HaAB AR C
4. HaAA, D 3RE

Options :

485584142993. 1
485584142994. 2
485584142995. 3
485584142996. 4

Question Number : 85 Question Id : 48558435750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Identify the correct combination of formal communication .

A. Chain, Inverted V

B. Inverted V, gossip network, cluster network

C. Gossip network, probability, network, cluster network
D. Probability network, free flow, circular

E. Wheel, circular, free flow

Choose the correct answer from the options given below:

1. Aand E only

b2

. A and B only
3.A, CandE only
4. Aand C only

Options :

485584142997. 1
485584142998. 2
485584142999. 3
485584143000. 4

Question Number : 85 Question Id : 48558435750 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|C0mprehensi0n |MCQ

Hu=TRe U & el gHl &l Ug=H Sifen |

A e ESAY )

B. HaobH \-"_.Hﬂiilql"itidd?,ﬂt_ﬁjdddi .
C. TTURIY Hedd, HHIEdI, #edd, 1w dcad
D. YU edd, Tad Jalg, Ihig

E. I, 9% 19 Jad Hdle

i 16T TTT faaedl H ¥ Hgl IR B 981 Do
1. %A A HRE

. Pad A IR B

3. %add A, C ARE

4. PAAAIRC

Options :

485584142997. 1
485584142998. 2
485584142999. 3
485584143000. 4

[

Question Number : 86 Question Id : 48558435751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII |
A |Science not rule of thumb I. [Management should accept constructive suggestion of workers|
B. [Harmony not Discord II. |Only one best method to maximise efficiency
C. |Cooperation not individualism II1. [Worker Training
D. [Development of each & everv person to his or her greatest efficiency| [V |[Complete understanding between managers and workers

Choose the correct answer from the options given below:
1. A-I B-II C-III D-IV
2. A-II B-IV C-TII D-1
3. A-IV B-II C-I D-III
4. A-Il B-IV C-I D-ITII

Options :

485584143001. 1
485584143002. 2
485584143003. 3
485584143004. 4

Question Number : 86 Question Id : 48558435751 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




a1 1 1 a1 11 ¥ e Piforg

e Tt I
A | TGFH 1 $1 SAFY B L | e Bl BRI & YIS Y19 DI WIDHR BT 916y
B. | dgd=dl 71 &1 7dyE 1. | G&dT B GG B UGHTE 3aH adidl
C. | o991 T 31 SAfdarg III. | TR AFR1E0
D. | Ud® St @1 aTed G4l @ faerg | IV, | Uay@! au1 SR & did qof 99
frafead faweal o 9 98t SR &1 991 DI -

1. A-I B-II C-I1I D-IV
2. A-II B-IV C-ITI D-1
3. A-IV B-II C-1 D-III
4. A-II B-IV C-I D-III

Options :

485584143001. 1
485584143002. 2
485584143003. 3
485584143004. 4

Question Number : 87 Question Id : 48558435752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List II

LISTI LISTIT
[File complaint in case of dissatisfaction| . |Right to be heard
Get relief against unfair trade practices | II. |[Right to be assured
Complete information about the product| II1. [Right to seek redressall
[Freedom to access variety of products | IV [Right to be informed

glo|w| =

Choose the correct answer from the options given below:
1. A-I. B-III, C-IV. D-II
2. A-L B-II, C-IV, D-III
3. A-I, B-IV, C-II, D-TIT
4. AT, B-I, C-I1, D-IV

Options :

485584143005. 1
485584143006. 2
485584143007. 3
485584143008. 4

Question Number : 87 Question Id : 48558435752 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




a1 1 1 a1 11 ¥ e Piforg

Tt 1 et 11
SIS & HH R g @ L | g 9H @1 SR
W1 IR ferarett € giad o 1. | fawsd g @1 SfiaR
IWIG & IR H gul SHBR 11 | FaRu WieH &1 HEHR
IdTe! @ fafasa a® ugas &1 o) IV | gfad iy oF &1 ey

FefeRad fa® el © o 981 SR &1 94 DI ;

1. A-I, B-III, C-IV, D-1II

glo|w|»

2. A-L B-11, C-IV, D-III
3. A-L, B-IV, C-11, D-IIT
4. A-III, B-1, C-II, D-IV

Options :

485584143005. 1
485584143006. 2
485584143007. 3
485584143008. 4

Question Number : 88 Question Id : 48558435753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII
A Procedures 1. |Plan to get dominant position in markeq
B. [Strategy II. [Single use plan
C. |Project I11. |Standing plan
D. |Assumptions about the future] IV. [Developing Premises

Choose the correct answer from the options given below:
1. A-III, B-I, C-I1, D-TV
2. AL BI, C-IV, DI
3. A-TIL, B-II, C-TV, D-I
4. A-L, B-III, C-11, D-IV

Options :

485584143009. 1
485584143010. 2
485584143011. 3
485584143012. 4

Question Number : 88 Question Id : 48558435753 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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1. A-IIL, B-L, C-II, D-IV
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2. AL, B-I, C-IV, D-II
3. A-IIL B-II, C-IV, D-I
4. A-1, B-III, C-I1, D-IV

Options :

485584143009. 1
485584143010. 2
485584143011. 3
485584143012. 4

Question Number : 89 Question Id : 48558435754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LIST1I LIST II
A |Taking personal pain to complete a task as scheduled| 1. |Assertiveness
B. [Eliciting support of others in the venture II. |Persuasion
C. |A 'never say die' attitude 11T |Commitment to workg
D. |Conveving emphatically one's vision IV. |Persistence

Choose the correct answer from the options given below:
1. AL, B-TIL, C-1, D-TV
2. AL, BAII, C-TV, D-I
3. A-IIL B-IV, C-I1, D-I
4. A-IIL, B-I, C-IV, D-II

Options :

485584143013. 1
485584143014. 2
485584143015.3
485584143016. 4

Question Number : 89 Question Id : 48558435754 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. A-IL, B-IIL, C-I, D-IV
2. AL, B-ILL, C-IV, D-I
3. A-IIL B-1V, C-1I. D-I
4. A-III, B-I, C-IV, D-II

Options :

485584143013. 1
485584143014. 2
485584143015. 3
485584143016. 4

Question Number : 90 Question Id : 48558435755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LISTI LISTII
A |Similar nature activities are grouped together I [Establishing reporting relationshipg
B. |Define the work of different job positions 1. |[dentification and division of work
C. |Burden of work can be shared III. |Departmentalisation
D. |Hierarchial structure for coordination amongst departments| IV, |Assignment of duties

Choose the correct answer from the options given below:
1. AL, B-TIL, C-1, D-TV
2. AL, BAII, C-TV, D-I
3. A-IIL B-IV, C-1. D-II
4. A-IIL, B-IV, C-11, D-I

Options :

485584143017. 1
485584143018. 2
485584143019. 3
485584143020. 4

Question Number : 90 Question Id : 48558435755 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




a1 1 1 a1 11 ¥ e Piforg
P et I

A | TS @ US ardt huream oMU H gfFa Sl B 1| 1 | viideras dde &1 o]
B. | fafira o gumsif & ufviitd s 1I. | & &t g qut faurs=
C. | #R ¥R ®f g w1 a@ar s 1. | fauriago

D.

U & T9a09 & o0 aioaTRe Oea v | Sdet ot fAeiizor
FefeRad fa® el © o 981 SR &1 94 DI ;

1. A-IL, B-IIL, C-I1, D-IV

2. AL, B-ILL, C-IV, D-I
3. A-IIL B-IV, C-1, D-II
4. A-III, B-IV, C-1I. D-I

Options :

485584143017. 1
485584143018.2
485584143019. 3
485584143020. 4

Sub-Section Number : 2
Sub-Section Id : 4855842623
Question Shuffling Allowed : No

Is Section Default? : null

Question Number : 91 Question Id : 48558435756 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Read the following Case Study. answer the question

Government of India has taken several measures to make the economy Robust and to improve Business Environment. Production linked
incentive (PLI) scheme has been launched as result of which manufacturing is picking up. India has become second largest manufacturer
of mobile phones in the world. Indian economy has become fifth largest economy in the world surpassing U.K. India has become a large
defense equipment and arms manufacturer and is also an exporter of arms. The ease of doing business has also improved. According to
IMF and World Bank India is one bright spot in a world hit by declining economies and business sentiment in era of pandemic. India
successfully carried out largest Covid vaccination programme globally and also gave vaccine to other countries.

India has become second largest manufacturer of which of the following ?
1. Cars

2. Arms

[¥¥]

. Mobile phones
4. Laptop

Options :

485584143021. 1
485584143022.2
485584143023. 3
485584143024. 4
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
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Key Value
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Options :

485584143021. 1
485584143022.2
485584143023. 3
485584143024. 4

Question Number : 92 Question Id : 48558435757 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Compl

Read the following Case Study. answer the question

Government of India has taken several measures to make the economy Robust and to improve Business Environment. Production linked
incentive (PLI) scheme has been launched as result of which manufacturing is picking up. India has become second largest manufacturer
of mobile phones in the world. Indian economy has become fifth largest economy in the world surpassing U.K. India has become a large
defense equipment and arms manufacturer and is also an exporter of arms. The ease of doing business has also improved. According to
IMF and World Bank India is one bright spot in a world hit by declining economies and business sentiment in era of pandemic. India
successfully carried out largest Covid vaccination programme globally and also gave vaccine to other countries.

Select the correct combination of general forces of Business Environment from the following.

1. Investors and Social Environment

[

. Political and Social Environment
3. Investors and Customers
4. Customers and Legal Environment

Options :

485584143025. 1
485584143026. 2
485584143027. 3
485584143028. 4
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Options :

485584143025 1
485584143026. 2
485584143027. 3
485584143028. 4

Question Number : 93 Question Id : 48558435758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
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Key Value
Comprehension Compl

Read the following Case Study, answer the question

Government of India has taken several measures to make the economy Robust and to improve Business Environment. Production linked
incentive (PLI) scheme has been launched as result of which manufacturing is picking up. India has become second largest manufacturer
of mobile phones in the world. Indian economy has become fifth largest economy in the world surpassing UK. India has become a large
defense equipment and arms manufacturer and is also an exporter of arms. The ease of doing business has also improved. According to
IMF and World Bank India is one bright spot in a world hit by declining economies and business sentiment in era of pandemic. India
successfully carried out largest Covid vaccination programme globally and also gave vaccine to other countries.

Select the dimension of Business Environment to which production linked incentive is related to
1. Social
2. Legal
3. Technological
4. Economic
Options :
485584143029. 1

485584143030. 2
485584143031. 3



485584143032. 4

Question Number : 93 Question Id : 48558435758 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584143029. 1

485584143030, 2

485584143031. 3
485584143032. 4
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Key Value
Comprehension Compl

Read the following Case Study. answer the question

Government of India has taken several measures to make the economy Robust and to improve Business Environment. Production linked
incentive (PLI) scheme has been launched as result of which manufacturing is picking up. India has become second largest manufacturer
of mobile phones in the world. Indian economy has become fifth largest economy in the world surpassing U.K. India has become a large
defense equipment and arms manufacturer and is also an exporter of arms. The ease of doing business has also improved. According to
IMF and World Bank India is one bright spot in a world hit by declining economies and business sentiment in era of pandemic. India
successfully carried out largest Covid vaccination programme globally and also gave vaccine to other countries.

Recently, India has become an exporter of which of the following ?
1. Laptops
2. PPE kits
3. Defence equipments
4. Mobile phones
Options :

485584143033. 1
485584143034. 2



485584143035. 3
485584143036. 4
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Options :

485584143033. 1
485584143034.2
485584143035. 3
485584143036. 4
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Correct Marks : 5 Wrong Marks : 1
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Key Value
Comprehension Compl

Read the following Case Study. answer the question

Government of India has taken several measures to make the economy Robust and to improve Business Environment. Production linked
incentive (PLI) scheme has been launched as result of which manufacturing is picking up. India has become second largest manufacturer
of mobile phones in the world. Indian economy has become fifth largest economy in the world surpassing UK. India has become a large
defense equipment and arms manufacturer and is also an exporter of arms. The eaze of doing business has also improved. According to
IMF and World Bank India is one bright spot in a world hit by declining economies and business sentiment in era of pandemic. India
successfully carried out largest Covid vaceination programme globally and also gave vaccine to other countries.

In order to achieve high standards in various fields, Government of India is taking tough decisions. Which dimension of business
environment help Government to take tough decisions.

1. Technological

2. Social

3. Technological and Legal both
4. Political

Options :




485584143037 1
485584143038. 2
485584143039. 3
485584143040. 4

Question Number : 95 Question Id : 48558435760 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Options :
485584143037. 1
485584143038. 2

485584143039. 3
485584143040. 4

Sub-Section Number : 3
Sub-Section Id : 4855842624
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Question Number : 96 Question Id : 48558435761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

Answer the following Case Study and answer the question.

Marketing in India is undergoing a sea change. Internet advertising has increased its market share. Whenever we check our email or watch
a You Tube video advertisements are bombarded in between. Due to proliferation of mobile phones & data consumption Internet
advertising has come of age. Even OTT channels, TV Channels are viewed on mobile phones. Therefore companies have to change their
marketing strategies. The use of social media platforms like Facebook, Instagram, Twitter, Whatsapp & LinkedIn has increased. but it is
not free from limitations. There are many objections against advertising such as it add to cost, undermines social values, confuse buyers
ete.



What is the main reason for increase in internet usage ?

1. Use of mobile phone has increased

o]

. Use of social media has increased

LF¥)

. People have suddenly become rich
4. Data cost has become cheaper

Options :

485584143041. 1
485584143042. 2
485584143043. 3
485584143044. 4

Question Number : 96 Question Id : 48558435761 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value

Comprehension Comp2
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Options :

485584143041. 1
485584143042. 2
485584143043. 3
485584143044. 4

Question Number : 97 Question Id : 48558435762 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
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Comprehension Comp2

Answer the following Case Study and answer the question.

Marketing in India is undergoing a sea change. Internet advertising has increased its market share. Whenever we check our email or watch
a You Tube video advertisements are bombarded in between. Due to proliferation of mobile phones & data consumption Internet
advertising has come of age. Even OTT channels, TV Channels are viewed on mobile phones. Therefore companies have to change their
marketing strategies. The use of social media platforms like Facebook, Instagram, Twitter, Whatsapp & LinkedIn has increased, but it is
not free from limitations. There are many objections against advertising such as it add to cost, undermines social values, confuse buyers
cte.



Select out of the following that is not a teol of promotion Mix.

1. Branding

o]

. Personal Selling
3. Advertising
4. Sales Promotion

Options :

485584143045. 1
485584143046.2
485584143047. 3
485584143048. 4
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Options :

485584143045. 1
485584143046. 2
485584143047. 3
485584143048. 4
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Answer the following Case Study and answer the question.

Marketing in India is undergoing a sea change. Internet advertising has increased its market share. Whenever we check our email or watch
a You Tube video advertisements are bombarded in between. Due to proliferation of mobile phones & data consumption Internet
advertising has come of age. Even OTT channels, TV Channels are viewed on mobile phones. Therefore companies have to change their
marketing strategies. The use of social media platforms like Facebook, Instagram, Twitter, Whatsapp & LinkedIn has increased, but it is
not free from limitations. There are many objections against advertising such as it add to cost, undermines social values, confuse buyers
etc.



Which of the following is NOT a merit of advertising 7

1. Expressiveness

o]

. Mass Reach
3. Enhance Customer Satisfaction
4. Inflexibility

Options :

485584143049. 1
485584143050. 2
485584143051. 3
485584143052. 4
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Options :

485584143049. 1

485584143050. 2

485584143051. 3
485584143052. 4
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Answer the following Case Study and answer the question.

Marketing in India is undergoing a sea change. Internet advertising has increased its market share. Whenever we check our email or watch
a You Tube video advertisements are bombarded in between. Due to proliferation of mobile phones & data consumption Internet
advertising has come of age. Even OTT channels, TV Channels are viewed on mobile phones, Therefore companies have to change their
marketing strategies. The use of social media platforms like Facebook, Instagram, Twitter, Whatsapp & LinkedIn has increased. but it is
not free from limitations. There are many objections against advertising such as it add to cost, undermines social values, confuse buyers
ete.



What changes have companies made in their advertising strategies?
1. They are using more TV channels for advertising
2. They are using more print media for advertizing
3. They are using more word of mouth channels
4. They are using more of internet advertising

Options :

485584143053. 1
485584143054. 2
485584143055. 3
485584143056. 4

Question Number : 99 Question Id : 48558435764 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Options :

485584143053. 1
485584143054. 2
485584143055. 3
485584143056. 4

Question Number : 100 Question Id : 48558435765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2

Answer the following Case Study and answer the question.

Marketing in India is undergoing a sea change. Internet advertising has increased its market share. Whenever we check our email or watch
a You Tube video advertisements are bombarded in between. Due to proliferation of mobile phones & data consumption Internet
advertising has come of age. Even OTT channels, TV Channels are viewed on mobile phones. Therefore companies have to change their
marketing strategies. The use of social media platforms like Facebook, Instagram, Twitter, Whatsapp & LinkedIn has increased, but it is
not free from limitations. There are many objections against advertising such as it add to cost, undermines social values, confuse buyers
cte.



Which of the following statement is NOT an objection to advertising?
1. Confuses the buyers
2. Encourage sales of inferior products
3. Low effectiveness

4, Undermines social values

Options :

485584143057. 1
485584143058. 2
485584143059. 3
485584143060. 4

Question Number : 100 Question Id : 48558435765 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension Comp2
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Options :

485584143057. 1
485584143058. 2
485584143059. 3
485584143060. 4



